Order of Operations

Perform the operations in the correct order.

. 6.24+48+-244+8x1.3+2.4425

—_—

\S]

(((92+2.8)+4.8)x4.4)+-(1.9+38)—-34

W

. ((9.1=7.3) x0.5) + (5,88-6—5.6—3)

432+49.654—((9—(63+0.6)) =+ 1.5)

N

834555 ((4x(1.5—1.5))x9.4)
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Order of Operations Answers

Perform the operations in the correct order.

1.62+48+24+8x13+2.4+2.5
=23.5

[\

(((92+42.8)+4.8)x4.4)+-(1.9+38)-34
= 18.6

W

(9.1 7.3) X 0.5) - (5.88-6—5.6—3)
=09

4.3249.6+4—((9—(6.3+0.6)) = 1.5)
=42

9

. 83+55+5—((4x(1.5—1.5))x9.4)
=94
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